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1. (o) = St %/ Al ?

5 18| 7 | 24| 10 | 33
9 1@ [ ®|@© [(@](@

(1) 54 2) 72 3) 16 4) 60

What will come in place of (e) ?

5 18| 7 | 24| 10| 33
9 1@ [ B ]| [@](@

(1) 54 @ 72 (3) 16 4) 60

2. SIS 99 AT T gare T Bigel SS9V T AT HEATAT 9ATd 2 SuiE] W HIdel, S ST
SI19 30 auf=T 318 9 A= vErE 99 fhdt o1de ?
(1) 48 (2) 58 (3) 68 @ 17

John’s age becomes half that of his brother’s age if we simply add 2 years to his brother’s present
age. If John is 30 years old today then what will be the age of his brother ?

(1) 48 2) 58 3) 68 4) 17

3. WhI 30 HeAi=A YAHEA, P @ IS SR =aem SN0 W gl ST IR SEiEn o, P enfo WoHed
forelt 9ot st ?
1 15 2) 16 @3) 17 4) 20

In a row of thirty boys, P is fourth from the right end and W is tenth from the left end. How many
boys are there between P and W ?

1) 15 2) 16 @) 17 @) 20

4. el fecredn gofiHy TeTe e S1a v
P_qr_r_pqq_qrp_
(1) pqqqp (2) prrgp () rrrqr (4) rqqpr
Find the missing letters from the following given sequence.
pP-_qr_r_pqq_qrp_
(1) paqqp (2) prrqp (3) rrrqr (4) rqqpr

FTel HTHNITS! T / SPACE FOR ROUGH WORK P.T.O.
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5. A CH g 3Med M0 D& B =1 Yol 37", E & A 91 9IS 7R, SR C & D = a8 sHa W B E
IRt 1 T 2
(1) gerf (2) 3 f= (4) =@
A is father of C and D is son of B. E is brother of A. If C is sister of D, how is B related to E ?
(1) Daughter (2) Husband (3) Brother-in-law (4) Sister

6. S (A+B)RUN AT B S AE; (A—B) B A # B wEIV 3E; (A x B) RS A€l B =l w3
afor (A +B) ®UN A ¥ B ¥ SEiel 3Ted, T Wielerisht o w4, ‘O & L =1 Jorm 37e’ € exifer ?

(1) LxM+N+O-P 2) L+M+O-N=P
3) LxM+N-P+0O 4) LxM+N-O+P

If (A + B) means A is brother of B; (A —B) means A is sister of B; (A X B) means A is wife of B; and
(A +B) means A is father of B, then which of the following option indicates, ‘O is son of L ?

(1) LxM=N+O-P 2) L+M+O-N=+P

(3) LxM+N-P+O (4) LxM=N-O+P

7.  SARYNGH SSdTealhs semel STEl WM 6 : 30 arsierel i q Heslerd sier fehedl arsierd ?
(1) 6:30 (2) 5:30 (3) 12:30 (4) 3:30
By looking in a mirror, a clock shows 6 : 30 then what is the real time in the clock ?

(1) 6:30 2) 5:30 (3) 12:30 (4) 3:30

8.  Tciiel U SuiHTen e, TUS auiHTeldial STaiea TMe Havid U fafyree endfasis Tar siad.
S TaeeTar MU, Wielierish! HIvan Fafa et s 5 ?
HDG, NJM, TPS, __ 2 .
(1) zZvVY (2) QNR (3) RPS (4) ATHRT AR
The following groups of alphabets form a certain pattern with regard to their position in the English

alphabetic series. Based up on the pattern, which of the following alternative should replace the
question mark ?

HDG, NJM, TPS, 72 .
(1) ZVY (2) QNR (3) RPS (4) None of these

Hee] HIHTETS! W / SPACE FOR ROUGH WORK
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9.  RIER FIBSYHE T e, @refiel weiE SR AL
(a) PO ot weitol e anfn SR Sereen famneten W wat FH wE 2
(b) I g i, Yesd Sl Ferean foreneatsh el e fhdt S ?
(c) T Heme) faenedf fvdt dear rar wered sa 2

350
300

250 i
200 Sl
150
100

50

0 4

2015-16 2016-17 2017-18 2018-19 2019-20

it I
(1) 2015-16, 90, IR (2) 2016-17, 70, 9=
(3) 2017-18, 90, UTH (4) 2015-16, 90, T

Examine the graph carefully, answer the following questions.

(@) Which year has the smallest difference between the number of students who passed and
those who failed ?

(b) In the last five years, what was the average number of students who failed in school.

(c) How many times have the same number of students failed ?

350
300

200 Fail
150
100

50

0

2015-16 2016-17 2017-18 2018-19 2019-20

Answer options :
(1) 2015-16, 90, Four (2) 2016-17, 70, Five
(3) 2017-18, 90, Five (4) 2015-16, 90, Three

e BT W1 / SPACE FOR ROUGH WORK ~ PTO.



H18

10.

6 A

e 20 e ITE T T 9 Sseiws gedl d 30 Hiet Al W a1 Setdiehe el | 35 Hiet =erd!.
T S Fedl @ 15 Hied =efdl. W Al Il Seihs dedl 9 15 Hiel Aerdl. o AR, &
eefeordarg sroren feom & fordt et g1 s1e ?

(1) 15 He gfe=H (2) 30 HeX gE

(3) 30 Hiet ufv=m (4) 45 ¥

Aadit walks 20 metres north then he turns right and walks 30 metres. Then he turns right and
walks 35 metres, then he turns left and walks 15 metres, then he turns left again and walks
15 metres. In which direction and how many metres away is he from his original position ?

(1) 15 metres West (2) 30 metres Fast

(3) 30 metres West (4) 45 metres East

11.

TR T 27 ot Wifash garHE dee Ufug S ST At S el ?

12.

(1) = (2) En (3) e (4) et
Where was the United Nations 27t World Climate Change conference held ?

(1) Egypt (2) Russia (3) Germany (4) Italy
‘ge I ' A STemel A1 HewreAl YaTeR 3 H 2023 Uit wetterian! o frae wedt o1 ?
(1) dfsa fam gy (2) T TS

(3) Sfid w2 (4) ST fE s

Who among the following has been elected on the important post of President of the “World Bank
Group’ on 3" May 2023 ?

(1) Taranjit Singh Sandhu (2) Raghuram Rajan

(3)  Urjit Patel (4) Ajaypal Singh Banga

13.

PRET AR FRGHT T SR S SUHaE AK-203 sfaiee et fftfdl st o1 ?

(1) s (2) e ) 3w (4) 4

Korwa ordnance factory is manufacturing AK-203 assault rifles in a joint venture with which
country ? '

(1) Japan (2) Russia (3) USA (4) France

14.

2023 7EA frthenya frgdt STER o Sfard faeuslt Torg ot WA= e ?
(1) wAEH (2) oY TR
(3) dHEg 4) @

Ambati Thirupathi Rayudu, who announced retirement from cricket in 2023 belongs to which
state ?

(1) Karnataka (2) Andhra Pradesh

(3) Tamil Nadu (4) Kerala

Heed] BTHTHTS! ST / SPACE FOR ROUGH WORK
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15. R Yoo Hferdan snefevarare! ‘wea’ Amert sidmfed 39 WeswH (ATP) YUlell STHAT STUel oTR.
® A9 ol faskfad Fer T ?

1) z=n 2) ELemEls
(3) YR & (4) SRELud.si.

Indian Railway has introduced Automatic Train Protection (ATP) system called ‘Kavach’ for
enhancing safety. Who has developed this technology ?

(1) ISRO (2) DRDO

(3) Indian Railway (4) RDSO

16. Yo famiear Ifard sTRrafawae Sl 0 HIomr 29 Sde gl 237 See SR ?
(1) e (2) e (3) gl (4) Faa

Which country has become the first country in the world to mandate mandatory health warnings
on individual cigarettes ?

(1) Canada (2) Russia (3) Italy (4) Kuwait

17. At v o/ ST e ?
(a) ‘TR ="' g S A S,
(b) STEferan, =psicie, SoRme, ST, efaror Siften & 39 1 Hes G9wEe 3R,
(c) SRR FT=a faerae S 3 yRaen ‘7@ W' =1 gt 2T RIERy el o,
(d) == SEEIEIET 8 Sl YIRATel STevae .

Wf'&ﬂ' I
(1) & (a), (b) 30T (c) (2) T (a), (c) ST (d)
(3) W (a), (b) 0T (d) (4) =« gd

Which of the following statement/statements is/are not false ?
(@) NATO plus is an organizations created by America.

(b) Australia, Newzealand, Israel, Japan, South Korea these countries are members of this
organisation.

(c) A select committee of the US congress has recommended that India be granted NATO plus
status.

(d) India needs this status to encircle China.

Answer options :

(1) Only (a), (b) and (c) (2) Only (a), (¢) and (d)
(3) Only (a), (b) and (d) (4) All the above

Freed] HIRITS W / SPACE FOR ROUGH WORK P.T.O.
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18, ‘TR 30 FEa oA Heer’ YA Gk ATeATHGH Tafed S SEeed | 4l #1E€ (ABHA Card)
B FHT Gieieish! HIvel SUhHTE] I 38 ?
(1) THHA 9Rd e favH (2) gwEEE vRa fesfea faem
(3) STIWHH ¥RA S " (4) oTgdfes vra fesiea e

The ABHA-Card programme implemented by the Ministry of Health and Family Welfare,
Government of India is a part of which of the following scheme ?

(1)  Ayushman Bharat Data Mission (2) Ayushman Bharat Digital Mission
(3) Ayushman Bharat Data Model ~ (4) Ayurvedic Bharat Digital Mission

19. 9RAW STHER S5 Tata 9o 5 S G vl o gE shedl 2
(a) 9 wsRew (b)) feemEd foen (c) oTEEts (d) NTHTATE
it I
(1) (a) S0 (b) (2) (a) @ (c) (3)  (b) 3mfor (d) 4) (o) =nfor (d)

Which company launched the first 5G Service in telecom sector in India ?

(a) Bharti Airtel (b)  Reliance Jio (c) Idea (d) BSNL
Answer options :
(1) (a) and (b) (2)  (a) and (c) (3)  (b) and (d) (4)  (c) and (d)

20. W] I HUF/FHU S ATEN ?
(a) T T W RN gfeam e atfem fegmed = 7 fear het oM.
(b) @ TH Voo MEee fruna fewia .
(c) @ 15 STal HsiaeE gHY SR A,
(d) A 90% U1 ST JUM STV A AT,

Tt 39
(1) = (a) (2) W (b) 3 (c)
(3) W (c) = (d) (4) K (d)

Which of the following statement/statements is/are not correct ?

(a) INS Mormugao has been designed by the Warship Design Bureau of the Indian Navy.
(b) Itis a stealth guided missile destroyer.

(c) Itis the second ship of the P-15 Bravo project.

(d) 90% of these parts are made in our country.

Answer options :

(1) Only (a) (2) Only (b) and ()

(3) Only (c) and (d) (4) Only (d)

Free] BTHTATS! SN / SPACE FOR ROUGH WORK
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THRA Fiar fafay srefferiel Te Sreau garerd faeien 3R, $HRA sievi= T @9 T 5,40,000 3,
TTEA TRESTHIS! Sreren @« e ?

%

(1) 67,500 ) % 72,000 (3) T 65,000 (4) % 70,000

Following Pie diagram shows expenditure on various items while constructing a building. The
total expenditure of building construction is ¥ 5,40,000. What is expenditure on steel ?

Bricks

Labour @

»
& Cement

Steel

(1) % 67,500 ) T 72,000 3) T 65,000 (4) % 70,000

22,

T T AST SO 82%, f&wal STOToTR 76 % Tieh 316 Sl THT STOIOMR 2244 ek 3Ted, ST 71 Tard
SR T 7 SOOI 8% Tk STEtel T 1 e arsheen fefedt 2

(1) 2200 (2) 3200 (3) 3400 (4) 3500
In a village 82% people know Marathi, 76% people know Hindi and 2244 people know both

Marathi and Hindi. If there are 8% people in that village who don’t know both languages, then
what is population of that village ?

(1) 2200 (2) 3200 (3) 3400 (4) 3500

FHeed] HTATRITS! WIFT / SPACE FOR ROUGH WORK P.T.O.
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23. dedeA feRmm 79l weh fafire Siem= YeR e | fhudel ararar feolt o, oo feemm
FEA 80 THACES HIV g 37T ?

A
-l 15

125
104

8 7.5
5.._
3
2 1.5 1
.I [ 1 t ¥

O 90 20 30 40 50 60 70 80 90 100
(1) 20 -30 (2) 10-20 (3) 40 - 50 4) 30 -40

The following is a histogram showing the actual frequency of the closing prices on the stock exchange
of a particular stock. From the histogram, the class containing the 80th percentile is :

A
15 4 15

12.5
10 +

8 7.5
5_._
3
2 15 1
t [ ] | I

0 10 20 30 40 50 60 70 80 90 100

(1) 20-30 (2) 10-20 (3) 40-50 (4) 30-40

el BTHTETS! ST / SPACE FOR ROUGH WORK
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24, e Tgd, ffwa o fawmm sm=on wicha fresfacrer o Suifae smed.

—
A B faeme
””””””””””” sel [8] Ffeman
,,,,, L
o .
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-X-] /::— Qo D §
| LX) R e £ oo
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oo e e oo
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[—jce o ° 3]
=K = 8
o oo oo -
>
=r=ofi-2 |T=vil-3 =TEil-4
@relterient v faum aPer ome ?

(1) =rEvit wifeeha ffewam tga o famrdan s o1 frefae.

(2) =rEvit mfesha faswmea Tga @ ffewaraan st o7 frefae.

3) == mferra fferar @ Uger faswmedan s o fisfad.

(4) =rEvh mfasa fifwa 3 Uga o i faswratan o i,

The bar graph shows the marks obtained by Rahul, Nikita and Vikas in test series.

A Vikas
iiiiiiiiiiiiiiiiii o : - - gy 1 i
fffff ¥ Nikita
oo
oo
e v i [] Rahul
| o0 | o0
-] o o
oo oo
- oo L i ° o0
oo oo
-] oo
o0 o o0
o0 o o
oo oo
o0 L
-] o o
oo o o
FH %6
LX) oo -
0 Lal
Test-1 Test-2 Test-3 Test-4
Test series —»

Which of the following statement is correct ?

(1) Nikita scored more marks than Rahul and Vikas in overall test series.
(2) Vikas scored less marks than Nikita and Rahul in overall test series.
(3) Nikita and Rahul scored more marks than Vikas in the test series.

(4) Nikita and Rahul both scored less marks than Vikas in overall test series.

el BTHATS! ST / SPACE FOR ROUGH WORK P.T.O.
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25. W 4b—4b-1=24 T (2b)b="
(1) 25 2) 255 (3) 125 4) 545
If 40 —4b=1=24 then (2b)b="
1) 25 (2) 255 (3) 125 4) 55
26, WX AW 30%=025 B= %,?I'{A :B:C=?
(1) 15:12:10 (2) 12:15:10 (3) 10:12:15 (4) 10:15:12
If 30% of A=0.25, B= %, then A:B:C=?
(1) 15:12:10 (2) 12:15:10 (3) 10:12:15 4) 10:15:12
27. HRRTE A 60 TR, wia T S umed W Hermet B 75 R wf 9w 9 e, S e ww
i uredE.  HeREl A € SRRmet B = 60 R @ . W HRewmEl B o Wermet A v
e fRdt de arre ?
(1) 1599 (2) 479 (3) 2d¥ (4) 4.5TH
Car A travels at a speed 60 kmph and Car B travels at a speed of 75 kmph. Both cars are travelling
in the same direction. Car A is 60 km ahead of Car B. How much time will it take for Car B to
reach at Car A ?
(1) 15 hrs (2) 4 hrs (3) 2hrs (4) 4.5 hrs
2 2
28, (3.07)* + (0.0193)

" (0.307)% + (0.00193)2

(1) 100 @) 1 (3) 10 (4) %6
Solve : (3.07)% + (0.0193)

" (0.307)% + (0.00193)>
(1) 100 @ 1 3) 10 (4) Tgﬁ

Freed] HIATHTS! VRN / SPACE FOR ROUGH WORK
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29. T&H THMIR 10 &, & 15 37d W& ol 9 10 36 15 TGl 91 JAr faehal o0 el vkl T fadt
BIge ?

(1) 50 2) 66 3) 75 4) 125

A shopkeeper buys 15 mangoes for Rs. 10 and he sells 10 mangoes for Rs. 15. What is percentage
profit of shopkeeper ?

1) 50 2) 66 @) 75 (4) 125

30. mx>oanﬁrx+1=5.534@aat\/§+i—=?
x N7
ORNCE @ 75 () 75 @ -53
Ifx>0andx+%=5-5,then\/;+%=?
(1) 55 2) J75 @) -75 4) -55

31. 4 %Y U &M 8 feawia qof stam, 7= &m 8 T 16 feawia qof wiam. &9 & 4 769 9 4 S fadt
feawia qof shdte ?

1) 3%—1%6@'?[ ) %ﬁw‘a (3) 5%1%3‘873 (4) 6%&@1’3

4 men complete a work in 8 days and same work 8 women complete in 16 days. Then in how
many days 4 men and 4 women will complete the same work ?

2 1 2 2
(1) 3§ days (2) 35 days (3) SE days 4) 6§ days

el HHTHIS! TIRT / SPACE FOR ROUGH WORK P.T.O.
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32. W@Eld 3MEhdid ABCD & HRE aedid hRel 3T%.  aqeerel U 2my/x 3R, Y@ifehd W= &sthos ferdt
M ?
A B
D C
M) 2 @ w2 ® wm-2F @ 1

In the diagram below ABCD is a square inscribed in a circle with circumference 2mJ/x . What is
the area of the shaded region in the diagram ?

A B
D C

2
(1) 2z @) mr-2 () m-2k @ 1-=

o] BTHRITS ST / SPACE FOR ROUGH WORK
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33. TENE clihddl gk ufTEm 2015 Afe TgeTaR S S

FHem
(@) HEH7
(b) e 10
(c) M 13
(d) M 20
i I

(1) (a)-(ii), (b)-(iii), (c

s
(i) T Femaed demdan ST S fanfad ST,
(i) HERT T Hal gk STENT Held 0.
(iii) RS TUATHIS! Hifed! dSRIATE STo .
(iv) &t

)-(iv), (d)-(3)

(2)  (a)-(iid), (b)-(ii), (c)-(1), (d)-(iv)
(3)  (a)-(iii), (b)-(iv), (c)-(3), (d)-(ii)
(4)  (a)-(iii), (b)-(iv), (c)-(ii), (d)-()

Match the following as per the provisions under the Maharashtra Right to Public Services Act, 2015 :

Section

(a) Section 7

(b) Section 10
(c) Section 13

(d) Section 20

Answer options :

Provision

(i) Developing culture to deliver Public Services within stipulated time
limit.

(i) Constitution of Maharashtra State Right to Service Commission.
(iii) Use of Information technology for delivery of Public Services.

(iv) Penalty

(1) (a)-(ii), (b)-(iii), (c)-(iv), (d)-(3)
(2)  (a)-(id), (b)-(i), (0)-(1), (d)-(iv)
() (a)-(iii), (b)-(iv), (c)-(3), (d)-(ii)
#)  (@)-(id), (b)-(iv), (0)-(i), (d)-(3)

Heeg] HIHTETS! ST / SPACE FOR ROUGH WORK P.T.O.



H18 16 A
34, wifedt iR srfufrem 2005 Afve TRgEiTar S @ -

e EG (f

(a) e 4 () foafea yentona Aifedt 0ard TR IvaTEt HRoT
(b) wHeH 7 (i) T wifet STERT "o o

(c) wHEH9 (iii) GreSIR IfRTOTae st

(d) HaH 15 (iv) fosdi=n o751 feprena e

it 39

(1) (@)-(iv), (b)-(iii), (c)-(3), (d)-(ii)
(2)  (@)-(v), (b)-(i), (c)-(ii), (d)-(iii)
() (a)-(id), (b)-(iv), (c)-(1), (d)-(ii)
(4)  (@)-(ii), (b)-(1), (c)-(iv), (d)-(ii)
Match the following as per the provisions of the Right to Information Act, 2005.

Section Provision
(a) Section 4 (i)  Grounds for rejection to access Information in certain cases.
(b) Section 7 (ii) Constitution of State Information Commission
(c) Section 9 (iii) Obligations of public authorities
(d) Section 15 (iv) Disposal of request

Answer options :

(1) (@-(v), (b)-(iid), (c)-(3), (d)-(ii)
(@) (@)-(iv), (b)-(1), (c)-(id), (d)-(ii)
(3)  (a)-(iii), (b)-(iv), (c)-(1), (d)-(i)
(4)  (a)-(iid), (b)-(i), (c)-(iv), (d)-(ii)

35. @reitd faus famma =0 ¢
foums (1) : wifedan st aifufm, 2005 e T ke mfgd=n iR YoM @
forurs (11) : wfesdit=n stfereroa ™, wRTEU, Hidt TurEUaTEn SRR e R,
Ay ygqig faer
(1) faum (1) SR =1, (1) 9%
(2) faum (1) s TR, (1) I
(3) A faum sleR o1
(4) <R faum 9% oTRq.
Consider the following statements :

Statement (I) : The RTI Act, 2005, extends the right to information to all people of the country.

Statement (II) : The right to information includes the right to inspection of work, documents,
records.

Choose the correct option :

(1) Statement (I) is correct, (II) incorrect

(2) Statement (II) is correct, (I) incorrect

(3) Both the Statements are correct

(4) Both the Statements are incorrect

Fey] HTHTS! @R / SPACE FOR ROUGH WORK
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36. URAIE TSTEE WEleih! FITR STs9e WA Toar HHiRus @ Jehe Hid ?

(a) oTT=ST 44 (b) FTT=E 30
(c) STT=1 27 (d) oTI=e 28
it S

(1) &K (c), (d), (a) (2) ®H (a), (b)
(3) T (b), (c), (d) (4) =@ wd

Which of the following articles of the constitution of India reveal the secular character of the
Indian State ?

(a) Article 44 (b)  Article 30

(c) Article 27 (d) Article 28
Answer options :

(1) Only (0), (d), (a) (2) Only (a), (b)

(3) Only (b), (c), (d) (4) All of the above

37. Sire oel - (gfauE g9die i) -

‘A’ (Hftt) ‘B’ (37T )
(a) TArTheTEaH e Afid () S FHe
(b) I\ TRl wfird (i) SO AT O
() T easEa dedf wftd (iii) TH. IEER
(d) Hea SR SuEfhd (iv) I TSig JHE
it 39

(1) (a)-(iii), (b)-(ii), (0)-(iv), (d)-(0)
(2)  (a)-(ii), (b)-(iii), (9)-(1), (d)-(iv)
(3)  (a)-(i), (b)-(0), (o)-(iii), (d)-(iv)
@) (a)-(ii), (b)-(iv), (¢)-(id), (d)-(})
Match the pairs - (Committee of the Constituent Assembly) :

‘A’ (Committee) ‘B’ (Chalrman)
(@) Ad hoc Committee on citizenship (i)  ].B. Kriplani
(b) Press Gallery Committee (i) Usha Nath Sen

() Ad hoc Committee on National Flag  (iii) S. Vardachari

(d) Fundamental Rights Sub-Committee  (iv) Dr. Rajendra Prasad
Answer options :

(1) (@)-(iid), (b)-(ii), ()- (1v) (d) @)

(2)  (@)-(i), (b)-(ii), ()-(0). (d)-(v)

3)  (@)-(), (b)-(1), (c)- (111) ( )-(iv)

(4)  (a)-(i), (b)-(iv), (©)-(ii), (d)-()

el BTHTIATS! Wi / SPACE FOR ROUGH WORK " PTO.



H18 18 A
38. g TN TIHTEHIAT TAHST RV STETER F1e9 3% vk ?
(1) e 370 (2) HeH 356 (3) e 256 (4) e 263

Under which article of the constitution can the Central Government give directions to the State
Governments ?

(1) Article 370 (2) Article 356 (3) Article 256 (4) Article 263

39. WA HIUE SISt Arafiear Yo A ?
(1) =% - 167 - TEAEAE Fdsd
(2) SAT=E - 163 - FErH=ET ot
(3) ITTT - 164 - TAWAT Gaiferd aegel
(4) HTHT - 166 — TIITHR=AT HRAE
Which of the following is not matched correctly ?
(1)  Article - 167 - Duties of Chief Minister
(2)  Article - 163 - Swearing in of the Chief Minister

(3) Article - 164 - Provisions related to State Ministers
(4)  Article - 166 - Operations by State Government

40. @refie faum ar=n suftn genra faum faer
(1) EHS YRAr=A1 HYUf YHFTHIST FTIET % Iehd, ST=0E - 245.
(2) HHe HEl AR A T ST SAHER R, AT - 247.
(3) hrEErE SFafiTe IR, =T - 248.
(4) TR R A AR ST, ITST - 246.
Read the following statement and choose the incorrect statement :

(1)  Parliament may make law for the whole part of the territory of India, Article 245.

(2)  Parliament has power to provide for the establishment of certain additional courts, Article
247.

(3)  Residuary powers of legislation, Article 248.

(4) Parliament has power to impose tax, Article 246

Heed] BHTETS! OIFT / SPACE FOR ROUGH WORK
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41, QetH YR d@EuETe SR s mfard faem e snfia e ?
(a) ITDT 43 (b) TR 47
(c) oTI=% 48 (d) oTTT 39 A
gt I
(1) = (@), (b), () (2) T (b), () (d)
@) HH (a), (), (d) (4) K (a), (), (d)
Which of the following articles of constitution of India are based on Gandhian Idealogy ?
(a) Article 43 (b) Article 47
(c) Article 48 (d) Article 39 A
Answer options :
(1)  Only (a), (b), (c) (2)  Only (b), (c), (d)
(3) Only (a), (b), (d) (4) Only (a), (c), (d)
42. ‘'€ dfaum | ETen @, Qs g v sy weoarn sftn wfEsmdie wmrvreSt
YT TR 0T AT g8 Hehed WER 0. wigym ava 1 fgEen et wHt wha Fern ?
(1) 26 AR 1950 (2) 26 7reRET 1949
(3) 26 SHETT 1948 (4) 22 SETE 1947
“This constituent Assembly declares its firm and solemn resolve to proclaim India as an Independent
sovereign Republic and to draw up for the future governance a constitution”. When was this
objectives resolution passed by the Constituent Assembly ?
(1) 26 November, 1950 (2) 26 November, 1949
(3) 26 January, 1948 (4) 22 January, 1947
43, VA FHAsAETE GG HYA/A e

(a) 1976 REA HIUW T HAY Haeararaa RIeR Foararet TER @i fig i s e,
(b) T TN 6 ¥ 14 FARTS et feban srereRin feromeh Helt Suere e A0 ¥ HAVT Feed 88 =
HST GO HAE, 2002 BN SEvaT e,

Tt I
(1) = (a) - (2) w= (b)
(3) (a) T (b) A (4) wlere e

Select the correct statement/s about fundamental duties :

(@) In 1976, the Congress Party setup the Sardar Swaran Singh Committee to make
recommendations about Fundamental duties.

(b) The fundamental duty to provide opportunities for education to his child or ward between
the age of six and fourteen years was added by the 88th constitutional Amendment Act,

2002.
Answer options :
(1) Only (a) (2) Only (b)
(3) Both (a) and (b) (4) None of the above

Teeq] BIFTITS! W / SPACE FOR ROUGH WORK P.T.O.
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44, et IO SISt IeR Sosd ATar 2
(1) vironfetg=n sfuwR - 308 23 @ 24
(2) wfawfe SurErEn SR - ST 32 9 35
(3) wnftes TETa=aTEn AUHER - 3TE 19 § 22
(4) iRl snfon Jeforer AfusR - FTT=T 29 T 30

Which of the following pair is not correctly matched ?
(1) Right against exploitation - Article 23 to 24

(2) Right to constitutional remedies - Article 32 to 35
(3)  Right to Freedom of religion - Article 19 to 22

(4) Cultural and educational Rights - Article 29 to 30

45. A Sf9UME ST 29 ALY Wielerish! hive e T HIVA 3T 378 ?
(a) STeqEEAs = feqdaHr Gam
(b)  wfeen arie feadssm e
(c) rgYfaa Sidr=n feadssma Heeo
(d) TgfEa S feadaar S
i I
(1) (a) 7o (b) 2 () (3) (b) (4) (o) smor (d)
Which of the following elements are protected in Article 29 of the constitution of India ?
(a) Protection of interests of Minorities
(b)  Protection of the interests of Women
(c) Protection of interests of Scheduled Castes

(d) Protection of interests of Scheduled Tribes
Answer options :

(1) (a) and (b) (2) (a) ®) ® (4)  (c) and (d)

46. TauTenn fafufasges Afasr o1Ra :
(a) T fafrigamel v <0 (b) Taem wu faafsia w0

(c) STEHRY S HA (d) Tvifmes swErd S
I S

(1) = (a), (b), (9) (2) ™ (b), (c), (d)

(3) W (a), (c), (d) (4) K (a), (b), (d)

Governor has legislative power :

(a) To address the State Legislature (b) To dissolve the Vidhan Sabha
(c) To promulgate the ordinances  (d) To dismiss the cabinet
Answer options :

(1) Only (a), (b), ()

(2)  Only (b), (), (d)
(3)  Only (a), (c), (d) 4)

(
Only (a), (b), (d)

Feed] HTHITS! SR / SPACE FOR ROUGH WORK
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47. VAT WHA 2001 HE HEC HEA DI T HaGREHE TIET FHell S0 @ A9 aGqe hell
3R ?
(1) 2021 (2) 2026 (3) 2031 (4) 2036
Parliament of India in 2001 has enacted a law and made provision till which year the constituencies
will not be reconstituted ?
(1) 2021 (2) 2026 (3) 2031 (4) 2036
48, ST AREMT SN TeIE FieAme vEren o qave Hdia W Hued HYE AfHavE i
et ?
(1) ToIE9d 798 (2) VRS T
(3) AIHEYT LAY (4) ARG GG
When there are differences between Lok Sabha and Rajya Sabha over a bill, then who calls the
joint session of Parliament ?
(1) Chairman of Rajya Sabha (2) President of India
(3) Speaker of Lok Sabha (4) Chief Justice of India
49, TegTEre fEdiEed Giasm G Sreftaie! HivrE Aieedl Wi el ?
(1) oTafERA Afea (2) ISR AewA
() siefae qfea (4) A Al
Which of the following model was accepted by Constituent Assembly for appointment of Governor ?
(1) American Model (2) Canadian Model
(3) Australian Model (4) German Model
50. HiGHMMAT T STT=da HeH TR TS YRA T 96 T8’ 1 3o’ e ?
(1) e g=sT - 1 (2) T -2 (3) =% -3 4) STF=T -4
In which article of the constitution is it mentioned that India means ‘India will be a Union of
States” ?
(1) Article-1 (2) Article - 2 (3) Article -3 (4) Article - 4
51. ‘HeHd S’ € v HEI sfieere gid ?

(1) TOTEH |9 (2) GrESIE |

(3) HANHEH GHIS (4) W EES
‘Satyamev Jayate” was the Motto of which organisation ?

(1) Paramahansa Sabha (2) Sarvajanik Sabha
(3) Satyashodhak Samaj (4) Prarthana Samaj

e HTHINITS! I / SPACE FOR ROUGH WORK P.T.O.
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52. WWWW@WWWWWM?

(a) THRA L (b)) RS

(c) ey e e iid): g e
wm: Y e o

(1) (a) 3 (b) TR e () (b) ST () R
() (o () wHR o 4) e wE e

Which of the following Newspapers were used to propagate by the Christian Missionary ?
(@) Dyanodaya ' " UES 6 (bY  Tarprasarak

(c) Prabhodaya (d) . Sayandeepika
Answer optlons R A :
(1) (a) and (b) only 7 (@) (b)and (c) only
(3) (c) and (d)only = G IR (4) .all the above correct
53, mﬁﬁﬂwm@ﬁ&wqaﬁwﬁﬁwwmmmﬁm
1) faTmes dwmie (2) ooy Torer fes
(3) forem w{ TogE - (4 fam gmEE

Which of the followmg revolutionaries propagated the armed revolution at Pune as the activist of
‘Gadar Party’ ?

(1) Vinayak Deshpande (2) Vishnu Ganesh Pingle

(3) Sh1varam Han Ra]aguru (4) V.D. Sawarkar

54, mmﬁmmwwmwm?
(a) FOWE W AR Ry’ g S ¥ Aied,
(b) TR SEeE AR A g ¥ feEe gEed i,
() g defier St afeRD sremer foge Tt iy #R
(d) mﬁmmﬂﬁrﬂﬁwﬁ

watdt s |
1) @) (2 (a) () ()
(3 (a) (), (0) =T (d) @) (a) T (@)

Which of the following statements are true regarding the peasant movement ?
(a) Krishnarao Bhalekar placed the problems of farmers through ‘Deen Bandhu’ newspaper.
(b) Dinkarrao Javalkar's newspaper “Tej’ was the mouthpiece of the farmers.
- (c)  Vitthal Ramaji Shinde was the president of the Farmers conference in Pune.
(d) Sane Guruji united the farmers in Khandesh.
Answer options : G
(1) (a) and (b) @ @ ®and(@
(3) (a), (b), () and (d) (4) (a) and (d)

Jreed] BITRITS! T / SPACE FOR ROUGH WORK
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55.

23 | A
AR HIOT SO FEEt TV HerHel S 318 2
(1) SR Yigl aEeH (2) BTt ST
(3) PO fausguE (4) T S E

Who among the following was referred to as the Second Brahaspati ?
(1) Dadoba Pandurang Tarkhadkar (2) Balshastri Jambhekar

(3) Krishnashastri Chiplunkar (4) Mahatma Jyotirao Phule
56. STHEHR STRTH HIgT HEUAER TR Geieh Hiow sy ferg Hef 2

(a) I UG TAAIEIES! T W TMAE! HT.

(b) TR FERMEH YR Ve ST ¥ e SR SOARISt AR SRl A hrerd.

() fodimm wiférs sfae HVEEE THERA N Fel N REEIT GEHR H Gl <

(d) TR UIeE HO ARTEE SR varkfiar snfor diefty gene were WO il W 9T
<h{[dl.

i I

1) (b)) 2 (a) (b) 3 (@) (© 4 (@) () () (@

Which of the following measures were recommended by the government to crush the

non-cooperation movement ?

(a) Firing should be done to break up the assembly.

(b) A Military March should be taken from the village to show the people that there is a lot of
power behind the government laws.

(c) If the Seditious Meeting Act is implemented by any government the viceroy Government will
sanction it.

(d) The Military should be used extensively to reassure law-abiding citizens and assist the police
force.

Answer options :

1) (b) () 2) (@), () @) (@ (9 4 (@) () (© (D

57. 3.4 1896 HeA forder TRy figeemh anfefss Wrevit woarars qRITE ARISH FieN HehrE P

FiHe JHe Bd ?
(1) st HHAH (2) F HiEEH
() e wHHE 4) hewd HEA

In 1896 which commission was appointed by British Government with the collaboration of Dadabhai
Naoroji for the economic Survey of India ?

(1) Welby Commission (2) Wavell Commission

(3) Rowlatt Commission (4) Federal Commission

el HTHTETS! ST / SPACE FOR ROUGH WORK P.T.O.
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58. syt HYUl sy fég fawaten st @ Q) snftn A faveien widae Teem
fea 2.
(1) Wee (2) wifasiaE w6
(3) THETE SfaEH (4) I HESt Yie) v wd

devoted his/her life for the upliftment of Hindu Widow and became the secretary of
the widow remarriage association.

(1) Mahatma Phule (2) Savitribai Phule
(3) Ramabai Ambedkar (4) Prof. Maharshi Dhondo Keshav Karve

59. TH. 1937 d 1944 v T WA AR Wieflerir! w01 fEgHames ses 29 2
(1) = e gs (2) W AfEgEs 7
(3) =l gEhEr (4) fagn geE

Who among the following was the president of the ‘Hindu Mahasabha’ for seven consecutive
years from 1937 to 1944 ?

(1) Dr. BS. Munje (2) Sir Mahindrachandra Nandi
(3) Dr. Hedgewar (4) V.D. Savarkar

60. é.v. 1897 =N 1 T=AT Wil IV KR a0 968 TS ?
(1) 4t T gt dree

2) ot g o
(3) 4. St
(4) . T HIOTEIHR

Which labour leader died in the plague of 1897 ?
(1) Shri Narayan Meghaji Lokhande

(2) Shri Ramchandra Shinde

(3) N.M. Joshi

(4) Shri Raghu Korgaonkar

el HTHIRITS! ST / SPACE FOR ROUGH WORK
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61. Wit faum=n fa=r &4 - , |
(a) RIET Udd o STal WHR FieA TUAH STHeIed e fe=iood TEe Vel sl T8 =Ml

(b) TRRTZTS UfYeHe 9 SRE WHHIA! AN STHATH HEIl Teldran W/ Y B0 I
fopRUg! Tar et

(c) R feRARageT i et 700 T, Han S oTR.
(d) U T &hos 30000 <.fw. . Jam SR e

aftertent v faum/faum st o7/ 31med ?
1) (a) we 2) (a) U (b) Fd
3) (a), (b) v () (4) o0« 5

Consider the following statements :

(a) Konkan is a long stretch of lowland that lies between the Sahyadri mountain and the Arabian
Sea.

(b) The Konkan coast was formed by the fault of Sahyadri mountain in the West of Maharashtra
and adjacent to the Arabian Sea.

(c) The South-north length of Konkan coastline is more than 700 kms.
(d) The geographical area of Konkan is more than 30000 km?.

Which of the statement/s given above is/are correct ?

(1) (a) only (2) (a) and (b) only

(3) (a), (b) and (c) (4) All of the above

62. WICielieh! AERISr=A v foerna MidenTe Thedid T 3 ?

(@) 3 (b) SR (c) PR (@) e
aaiet I

(1) = (d) (2) (a) ST (b) (3) (o) enfor(d) (4) - = (b)
Gavilgad hills are located in which of the following district/s of Maharashtra ?

(a) Thane (b)) Amaravati (c) Kolhapur (d) Beed
Answer options :

(1) Only (d) (2)  (a) and (b) (3) (c)and (d) (4) Only (b)

Heed] BETETS! W / SPACE FOR ROUGH WORK ; P.T.O.
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63. TRITEN TaThEIe SARTET YT S0 T 3e@en Sl 2

(1) N (2) IR (3) W (4) WEEET
By which name is the part of the eastern slope of Sahyadri known as ?
(1) Ghatmatha (2) Konkan (3) Maval (4) Marathwada

64, T TEET W SN TR Bl 2

(1) i1 SR @) sRTE

(3) @it SR (4) wIel vdq T

In which area does ‘Shivana’ river originate ?

(1) Ajanta Hills (2) Bhor gad

(3) Vani Hills (4) Satpuda Mountain range

65. AT IHIEL0] GI&T0T ShIFe] WIar=al TSI hIved] a6l Yehlfyrd sHivard 3T7el ?

(1) W= 1986 (2) #1972 (3) 1986 (4) R 1986
In which year was the Environment Protection Act of India published in the Gazette of India ?
(1) March 1986 (2) May 1972 (3) May 1986 (4) November 1986

66. STV WSriel ook U= Gfeet FT Hig1 SIArEr SO aH oA ST ?
(1) ¥ = 1974 (2) € 1967 (3) =N 1999 (4) W= 1975
In which year the First experiment of lake tapping in Asia was done in Koyna reservoir ?
(1) March 1974 (2) March 1967 (3) March 1999 (4) March 1975

67. SIfdeh STRFE oA (WHO) 1 Ieiierishl shividl Faiery] TR Hee fasfad sheft o1 ?
(a) HgF TiE = Sqfo FE HWeed (FAO)
(b) wHfERor for 519 Hier™d (MOEF)
(c) g qEiery fois sffiufess (HELD)
(d) Smfaesk fErt Haea @eean (IUCN)
gt Sy
(1) K (b) (2) (a) 01 (b) (3) T (c) (4) =l g TR
Which of the following environmental health organizations has been developed by the World
Health Organization (WHO) ?
(a) Food and Agriculture Organization of the United Nations (FAO)
(b) The Ministry Of Environment and Forest (MOEF)
(c)  Health Environment Link Initiative (HELI)
(d) International Union for Conservation of Nature (IUCN)
Answer options :

(1) Only (b) (2) (a) and (b) (3)  Only (c) (4) all are correct

- =gl HTTETS! S / SPACE FOR ROUGH WORK
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68. 2016 T Foa & T WRATRTE Ui 100% e T TR St HT0AT ST, ER Th et &t
Yz A o[ T oA T 2
(1) 1,80,000 TH (2) 1,70,000 ThT
(3) 1,50,000 THI (4) 1,90,000 ThI
In 2016 the State of Sikkim declared as the first 100% organic State in India. How much land is
certified as organic farm ? :
(1) 1,80,000 acres (2) 1,70,000 acres
(3) 1,50,000 acres (4) 1,90,000 acres

69. TEUICTTGH S AU Selele TALATTI=A Yavd &7, T2, Seg Aie Hero L, TS YT e
(1) (2) W (3) W (4) @I £3
Water flows from the Himalayas deposit pebbles, rocks and sand at the foot hills and forms alluvial
fans which is called " .
(1) Tarai (2) Bhabar (3) Bhangar (4) Khadar

70. Eeie e we

(a) SFTEel SRRt sTaEma 26 Tl 1986 TS .

(b) e mefie TR 1986 A STAT= THeR0M Ui S (Radiation) el FHST.
(c) teel FehedTd JhEedn START STWE! (Reactor) 98 FOITEIST el ST Bl

it S

(1) e faumM (a) SR ST,

@) faum (a) sufor (b) sRI=R AR

@) faum (a) sufoT (c) SIS 3.

@) faum (a), (b) 3T () SRR .

Observe the following statements :

(a) Chernobyl nuclear power accident occured on 26 April 1986.

(b)  The Scientists from Sweden noticed increasing radiation in the surrounding environment in
1986.

(c) Graphite was used to cool reactors in Chernobyl plant.
Answer options :

(1) Only Statement (a) is correct

(2) Statement (a) and (b) are correct

(3) Statement (a) and (c) are correct

(4) Statement (a), (b) and (c) are correct

Teed] BTETETS! WM / SPACE FOR ROUGH WORK - P.T.0.
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71.  fask T o @ HSUETEE ST A0 SO e e,

(a) T () fgee e
(b) T ST () e dex
(c) T e (iti) S

(d) TSI e (iv) ST
Tt Y

(1) @)-(), (b)-(iii), (c)-(ii), (d)-(iv)
(2)  (@)-(iid), (b)-(), (c)-(ii), (d)-(iv)
(3)  (@-(iv), (b)-(ii), (c)-(ii), (d)-(3)
(4)  (@)-(iii), (b)-(iv), (c)-(id), (d)-(i)

Match the Physical quantities and the instruments used to measure it.

(a)  Air Pressure (i)  Decibel meter
(b)  Wind Speed (i) Seismo meter
(c) Intensity of Earthquake (iii) Barometer

(d) Intensity of Sound (iv) Anemometer

Answer options :

(1) (@)-G), (o)-(i), (©)-i), (d)-(iv)
(2) (@), (b)-Gi), (©)-(ii), (d)-(iv)
(3)  (a)-(iv), (b)-ii), (c)-(ii), (d)-(i)
(4)  (a)-(iii), (b)-(iv), (o)-(ii), (d)-()

72. e faye fa=ma =
() S HIEAHE ST ¥R (RI) FehTomreH1 IREdeR Stereie ST, 99 gehmm fafmdemor .
(b) & gerei-mem fafadiento wom ok, W frat dree fafmdeRtor SO T,
feTteht T faur aRrer o7 ?
(1) (a) w1 (2) (a) 3 (b) TR
3) (b) w (4) iRt FHowE A
Consider the following statements.
(a) Dispersion of light arises where the refractive index of a medium is frequency dependant.
(b)  All material media are dispersive; only vacuum is nondispersive.
Which of the statement given above is/are correct ?
(1) (a) only (2) (a) and (b) both
(3) (b)only (4) None of the above

Heel] HHETATS! W / SPACE FOR ROUGH WORK
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73. ‘HrEdE w1 g oTE o 91 RO e ...
1) o i qRveArs g8 TR g, T gRveeer 6.
(2) TEgE i qRTEeTe W e,
(3) e FRm gt TE.
(4) Sett Y.
Myopia is an eye defect known as ‘near-sightedness’, and is caused due to the reason that ....
(1) the image of an object is formed infront of the retina and not on the retina.
(2) the image of an object is formed beyond the retina.

(3) the image of an object is formed exactly on the retina.
(4) None of the above.

74, WfETHE} o] FEA 11 3 T W TRGAT @A 23 R, T e rgt,
(1) 11 =ggiA anftr 12 Wi 2) 12 W anftr 11 TR
(@) 11 ToEA anfr 12 =g (4) 12 Tori enfor 11 =g

The atomic number of sodium is 11 and its mass number is 23. It has
(1) 11 neutrons and 12 protons (2) 12 protons and 11 electrons
(3) 11 electrons and 12 neutrons (4) 12 electrons and 11 neutrons

75. WIEATETish! e ArgHes Wguol B et ?

(1) e (2) wRE (3) A (4) TIISA TEFES
Which of the following gas does not cause pollution ?
(1) Ammonia (2) Chlorine (3) Nitrogen (4) Hydrogen Sulphide

76, WIEATEdERT IO QR YRS YEHTOT STaTeT

(1) «=a (2) YA e

3) foisr <ol (4) @rogTen Hrel
Which of the following Salt is used in refining of Petrol ?

(1) Soap (2) Washing Soda
(3) Bleaching Powder (4) Baking Soda

FHeeg] BTATATS! ST / SPACE FOR ROUGH WORK P.T.O.
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77. @EAden! SIUT ST WUt el TERaELor Joned T ?

(1) e (2) sffee 3) UEFIRRMERl  (4) UEEE
Animals of which phylum contains open circulatory system ?
(1) Arthropoda (2) Annelida (3) Cyclostomata (4) Pisces

78. @eiial Sire Seed

W& WU YRt ST
(a) el el T ol () SETm
(b) SSUR TEA WO (i) HsRITH

(c) T TGl W& Yol (iii) wH"
(d) T WY G gTon (iv) 0"
Tt I

(1) (@)-(i), (b)-(iv), (c)-(i), (d)-(iii)

(2)  (@-(), (b)-(iii), (c)-(ii), (d)-(iv)

@) (@), (b)-(iv), (c)-(i), (d)-()

(4)  (@)-(iv), (b)-(ii), (c)-(i), (d)-(i)

Match the following :

Mammal type Example
(a) Pouched Mammal (i)  Bradypus
(b) Flying Mammal (i) Macropus
(c) Toothless Mammal (i) Manis
(d) Ant eater Mammal (iv) Pteropus

Answer options :

1) @), (b)-(iv), (©)-(i), (d)-(iii)
(2)  (@-(0), (b)-(iii), (c)-(id), (d)-(iv)
(3)  (a)(iid), (b)-(iv), (c)-(ii), (d)-(i)
4)  (@-(v), (b)-(iid), (c)-(1), (d)-(ii)

P HTHIRITS! W / SPACE FOR ROUGH WORK
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79. TIAAME a1 G SHH ¢

(a) @ifeiea (b) fafa

() THE. FHSA ) @&

it I

(1) & (a) (2) T (a) ST (b)

(3) W (c) (4) e (d)

The term Taxonomy was coined by :

(a) Aristotle (b) Linnaeus

(c) A.P. de Candolle (d) Plato

Answer options :

(1) Only (a) (2) Only (a) and (b)

(3) Only (c) (4) Only (d)
80. TTdTerie B & U HIVICAT YR S HHALAHES Bl ?

(1) R (2) wEEH 3) T+ (4) wiferseT™

Khaira disease of rice is developed due to the deficiency of which micronutrient ?

(1) Copper (2) Sodium (3) Zinc (4) Molybdenum
81. STl TS A ISRV SE! e,

FAEA TS T
(a) Ve (i) HEEH

(b) SETERE (i) EFRMISIH
(c) <Rermme (iif) I

(d) TSI (iv) FAAESHAE
wﬁﬁa#r:

(1) (@)-(@), (b)-(i), (c)-(iii), (d)-(iv)

(2)  (a)-(i), (b)-(iv), (c)-(i), (d)-(iii)

@) (a)-(iv), (b)-(iii), (c)-(i), (d)-()

(4) (a)-(iid), (b)-(i), (c)-(iv), (d)-(ii)

Match the correct example of plant group.

Plant Group Example
(a) Algae (i) Cycas
(b) Bryophyte (ii) Lycopodium

(c) Pteridophyte  (iii) Funaria

(d) Gymnosperm (iv) Chlamydomonas
Answer options :

(1) (@)-), (b)-(ii), ()-(iii), (d)-(iv)

(2 (a)-(i), (b)-(iv), (c)-(3), (d)-(ii)

(3)  (a)-(iv), (b)-(ii), (c)-(ii), (d)-(1)

(4)  (a)(iid), (b)-(i), (c)-(iv), (d)-(ii)
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82, WElTeTdeh! TTETATS T & W HRHSG A<t T et ez,

R T T
(1) feq =ftq Fa wrEEE fagm
(2) TEEd dET gferafran dfreta fedtam

(3) R A e TRITART AT
(4) FHEAAFA W FICRIERT Feheq

Identify the wrong pair of plant disease and it's causal organism.

Plant disease Causal Organism
(1) Citrus canker Xanthomonas citri
(2) Rust of Wheat Puccinia graminis tritici
(38) Ergot of bajra Cercospora Personata

(4) Red rot of sugarcane Colletotrichum fulcatum

83. YRATT €A SHETEAVIE T WSeTdah! hIoT TET g ?

(a) 3fead wem Wi (b) fead waw W=k

(c) TA.SRTHEY (d) ETHEL

it I

(1) K (a) (2) W (a) STOT (b)
(3) i T R (4) (), (b) ¥ (c)
Which of the following agency do aerial Photography Work in India ?
(a) Indian Air Force (b) Indian Air Survey

(c) NRSA (d LMD

Answer options :

(1) (a) only (2) (a) and (b) only
(3)  All are correct 4) (a), (b) and (c)
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84.

33 A

el TRIT BRI ST HITTH HE Hell S, = SYAN Yt St g,
(a) HIRIHTEEH T

(b) Terrme ffudr

(c) Tl TR TIR FHI0

(d) dfeR S qUrO

IV IR/ I T T 7 ?
(1) (@), (b), (c) 37T (d) (2)  (a), (b) 7O ()
(3) (a) snfor (b) (4)  (a) @701 ()

Vertical aerial photography is used in cartography. It is used for the following function.
(a) Photogrammetric surveys

(b)  Film making

(c) Preparation of Topographical maps

(d) Power line Inspections.

Which is/are correct answer ?

(1) (@), (b), (c) and (d) (2)  (a), (b) and (c)
(3) (a) and (b) (4)  (a) and (c)
85. fheA =9l &y gelE SRt SeAEE! FT s rerdien s 31 arade S 2
(1) dieq (2) et (3) o (4) e
Which colour is used for reading false color composite aerial photographs of healthy plants ?
(1)  White (2) Pink (3) Red (4) Black
86. Sk AfeeTer 3T YoMetidiel (S UH.TH. U9, ) Tel=1d 8 STIe shivedl <9 371e ?
(1) i (2) En (3) =M (4) 9N
To which country the GLONASS satellite in the Global Navigation Satellite System (GNSS)
belongs ?
(1) America (2) Russia (3) China (4) India
87. HTUH Seviidiel G ST 21 HATO! WieHeTdeh! HIol FHR el S ?

(1) faw=tsm (T faem) (2) B §Ti (THAD T faum)

(3) A g (4) Tl wd

In terms of the data communication, the data communication between 2 devices can be
(1) Simplex (2) Half Duplex

(3)  Full Duplex (4) All of the above
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88. fTesfieaer T sfarfa s gfawn s it feean @ gfafsran erre= Somdt it foen Tar et &=
BIE| 8.
(1) e 2w emEHe oM 2) = swgHe faeim
(3) e s@wHe ey (4) TEE sHe faem

The following tool was developed under Digital India to collect feedback of e-services provided by
government rapidly. The interface is known as

(1) Real time Assessment System (2) Random Assessment System

(3) Rapid Assessment System (4) Reserve Assessment System
89. HIEES HITIIT T TSN YhR T@ el HAA S k!,

(1) fore9mE (2) YH HIUE

(3) foafa d@mom (4) SRICTUh! hIEET A&

Mobile computing environment can also be considered as the type of

(1) Grid computing (2) Modern computing

(3) Distributed computing (4) None of the above

90, WeleTIeh! 3@l S EAd: BRe AeHEHIe! dradel .
(1) W " (2) e TR (3) 99 TR (4) SRIcTiet e e
Identify among the following which is mainly used for host website.
(1) Mail Server (2) Logical Server (3) Web Server (4) None of the above

91, UMY gfawien faswmmEe qQren ywong M ey woaEe! S @i Heead foemfEd
.

(1) WS & SushHe FjqauERT
(2) W S

(3) ErES @ yriieR! gfaam

(4) TR IR

In order to manage adequate amount of funds for infrastructure development the government
evolved the idea of :

(1) Disinvestment of Public Sector enterprises
) Make in India

(3)  Public Private Partnership model

) Smart cities
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92. wrefte faum fa=mr =1 :
(a) Teel elieh TRHI FHolel Tl ST deel SUHRToATH Jow J@efl .
(b) TSR weiges Fid sifuer dwa snfon The sk T g SR,

Feer! o/ faur/A g9 sme/a ?
(1) Tl (a) 3007 (b) A SR, (2) W (a) AT ITE.
(3) W (b) A . (4) TliTi! HIUAE L.

Consider the following statements :

(a) When people subscribe to government loans, the propensity to consume is curbed.
(b)  Due to public debt the rich will become more rich and the poor more poor.

Which of the statement/s given above is/are correct ?

(1) Both (a) and (b) are correct (2) Only (a) is correct

(3) Only (b) is correct (4) None of the above

93. e fasm frvTishare qEieries! SivR/Howd faum/ faum ster sme/q?
(a) g e o FEFAY (UNDP) 1990 HIGH S9edl STeaend He faehr i 4
GeheqT FHG el
(b) i e s a1 Hehew s 49 @fE HeAIg T61S & WI. 37§ i1 W,
(c) W feaenmamel ffed o sreehien wHEw AFa fosrg freeen Hoam adl.
(d) e fasm FEwiE go Ted v onfo U Fie S 3.
it I
(1) (), (0 (d) 2) (@), (b) (9 @) (a), () (@) 4 (@) (©)
Which of the following statement/s is/are correct regarding Human Development Index ?

(a) The United Nations Development Program (UNDP) included the concept of Human
Development Index in its report from 1990.

(b) The Credit of the concept Human Development Index goes to Lord Meghnad Desai and
Prof. Amartya Sen.

(c) Five factors related to Human Development are included in the Human Development Index.
(d) The value of Human Development Index is always between zero and one.

Answer options :

1) (b), () (d) (2)  (a), (b) (9) 3) () (b) (d) 4 (@) () (d)
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94. 9N fdigaR fesfe qegaia vamret Heft Qeficdsh! S faur ataw 3R ?
(1) =R fHEATER e eaadta - fer wiegern Suurt S sam
(2) SERAN Hed - HeFad] YHI
(3) freaes Svmafa ScEA + WRTTe Fee e 3=
4) TosRt + WeTE wgA

Which of the following statement with regards to Net Value Added Method at Market Price
(NVA) MP is correct ?

(1)  Gross Value added at Market Price - Consumption of fixed Capital i.e. depreciation
(2) Value of output - intermediate consumption
(3) Net Domestic Product + Net factor income from abroad

(4) Sales + Change in stocks

95. WA A= IS Hewia Ierat fauiqiqa mira faum e,
(a) TEIAHIGHACAT GoaTd =1 FHleald = Scargehad AT a8 Zef.
(b) = IEAEHAA ATE & U A FHH Bl
(©) WWMHWWWWWWWWWEH?

qaiEr I

(1) () 2 W@ (b) (@) () (4) wH (), ()

Find the incorrect statement/s about Indian agricultural productivity.

(a)  Agricultural productivity has increased rapidly in the early post - independence period.
(b)  Agricultural productivity growth has been equal across the country.

(c)  Agricultural productivity in India is still very low compared to other developed and developing
countries.

Answer options :

(1) Only (a) (2) Only (a), (b)  (3) Only () (4)  Only (b), (0)
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96. YYIG tefdshed Hewid YEia faumma awa faum siear
(a) 1980 WA F.UH.=AT FHl fTHITH HerH e el
(b) TrESITR TEiER 0 SAvAEE T e WU WeA Asd JRHG stefHwer Rend

et e,
() 1998 W& g SRNURG sTeHhedr=n giteshla TR,
i I
1) (a), (b) (2) T (b) (3) W (o) 4)  (a), ()

Find the correct statement about zero budgeting :
(a) First introduced in the U.S. department of agriculture in 1980.

(b) Zero budgeting has been recommended by the seventh plan as one of the steps to control
public expenditure.

(c) Central government adopted zero budgeting approach in 1998.

Answer options :

1) @, (b (2)  Only (b) (3)  Only () 4 @ (©

97. ettt T SiIel i@ (STawrd = fagid)
(a) drefTeR ey fagia - sfew fag
(b) 3cEA "k FA Tagia - g anfer
(c) haes e fagia e
i I
(1) ®H (a), () (2) ™ (b) (3) wH () (4) T (a), (b)
Select the correct pairs of the following. (theories of international trade) :
(a) The doctrine of comparative costs - Adam Smith
(b)  Factor proportion theorem - Heckscher Ohlin
(c) The law of absolute cost advantages - Ricardo

Answer options :

(1) Only (@), ()  (2) Only (b) (3)  Only (c) (4) Only (a), (b)

PHeed] HIHTETS! WFT / SPACE FOR ROUGH WORK P.T.O.



H18 38 A
98. WRATAS TRUEauel Hefyd qElerdent witaw faum/3 S/ ?

(a) WRE W9 1837 HEA e §E=! YLard e,
(b) WA WEHRA 2003 T Higas HROT SRR Fe.

(c) TTHER YA UG FAN WA T TI@ ¥ vl qraae! faem snfess &m Swror ©

(d) 1872 W& IreiaEmist Uew o AN qreAe aF fashiaa e,

it I

(1) (a) 3ufor (b) (2)  (a) S0f () (3)  (a) o (d) (4)  (b) 3o (d)
Which of the following statement/s regarding communication in India is/are correct ?
(a) Postal Service was started in india in the year 1837.

(b) Government of India announced Broadband Policy in 2003.

(c) Establishment of Special Economic Zones (SEZ) for India as a leading telecommunication
equipment manufacturing country was an important objective of the Eleventh Five Year
Plan.

(d) In 1872, Alexander Graham Bell developed the telephone technique.

Answer options :

(1) (a) and (b) 2 (@ and (c) (3) (a) and (d) (4) (b)and (d)
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99. WewR e & winem wewidter it & o == 4ra S @
wftreft a |
(a) Ta@ witwE A et (@) 1895, ;..
(b) . %S wf @ 1915
() i frarer (i) 1928 . .. .
(d) wewerm | Gv) 1964
1) @@ O-E), O @-Gv) o s e
(2)  (a)-(iii), (b)-(), (c)-(iv), (d)-(ii)
(@) (a)-(ii), (b)-(iv), (c)-(i), (d)-(ii) ikt AL Ry
@) @A), O, O, @) T e

Match committee and year in co-operative education and training context.
Committee Year
(a) Royal Commission on Agriculture (i 1895
(b) Prof. Karve Committee (i) 1915
(
(

~—

(c)  Frederick Nicholson iii) 1928 1
(d) Maclagan Committee iv) 1964
Answer options :

(1) (@)-6), (o)-(i), (0)-(ii), (d)-(iv)

(2)  (a)-(i), (b)-(), (c)-(v), (d)-(ii)

() (a)-(i), (b)-(iv), (c)-(1), (d)-(ii)

4)  (a)-(v), (b)-(0), (0)-(ii), (d)-(ii)

100. 2021 - 22 AT SR P WEE T WA #

@ WM ®) wwEErEro
(€ ¥E TERE I (d) foel wew A,
gt 3 ¢

(1) (a) AT (b) (2) (a) SN (c) (3) (a) MO (d) (4) (o) @nfor (d)
During 2021 - 22 the Net Foreign Exchange Assets with RBI'consistof . = .,

(a) Gold (b) Rupee coins
(c) Central Government Securities (d) Foreign Currency Assets
Answer options :

(1) (a) and (b) (2) (a) and (c) (3) (@and(d) = (4 (c)and(d)

Wi
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o — (U3 1 961 8. )

(8) wwgfsned fafeq Foem fafre Srie =1 ®M (W6 ) =@, ygfaesafaiad SaURreT a1 30
FITETER e i HedTd o Hidl HIOAT] I heS 3R, 318 AHS Lo o THR SHEARER SIHAH ST Hoedn
e BroTe TR Wfey v SIfufTH-82 " ATdtes age TaR ST HH0A 450 a Sl et
SHHTS Ueh TuTeA1 HIRTeTHr=A1 301/ fohal $9 Ueh IR Whirea1 ser=a1 8y U 2.

(9) T TRAURRHS AR farfied hovdt Jos HueA o ST B TeTgfrsh! Tord: SRR YeTaheIaTet S5 STvar
TR 3R, WA TR STTaTET STUATge! SHEar ST SRl WIT-1 Grasaths 7 faawer wa
SO ATAVAR L.

e
W. . 201. GdrH! el T FIOAEES] HIvT Terd: T Het 2
(1) @ gaFEE (2) sveEg fammErR
(3) TS TEERT T (4)  TidTesEs TREer
B WA I ST (3) TS TR W' o TR, e A1 e e S (3)!! e, ares WieiawEr)
T . 201 FHI{E SW-HHiH ' (B)" ® A oI SEiiRd FE qrafan Seavad o

%2.. D @ @ @
I TG T TRAYRaehdies Toiesh WeATEl qHe SAGRHTS 8 gRlel Taaicl Jiasedl Stusheade
1 YETRHREAN S Hafd ades quivs Swifhd FEA qraardl,  ETehidT ek dhiedl YIISe S
ATE, Uf-ae & yEe U aruE L
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